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1. Introduction
Simulation results for 10MHz E-UTRA->10MHz EUTRA Downlink was presented in RAN4#39meeting[1]. This document presents 5% CDF user throughput loss for the scenario. Simulation assumption refer to document [2].
2. Simulation results
The 5% CDF user throughput loss of a victim 10MHz E-UTRA TDD system as a function of ACIR is shown in Figure 1. Both uncoordinated and coordinated scenarios are presented. 
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Figure 1. 5% CDF user throughput loss in downlink
It is observed that with 32 dB ACIR, the LTE 5% CDF user throughput loss is about 5 % for the coordinated scenario, but for the uncoordinated scenario the 5% CDF user throughput loss is larger than 5% until the ACIR increases to 35 dB. 
3. Conclusion

In this contribution, 5% CDF user throughput loss for the scenario of 10MHz E-UTRA->10MHz EUTRA Downlink is presented. It is proposed the simulation results be included in RAN4 system scenario.
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